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QUESTION 1

The naming of the "AP6010DN" is incorrect.

A. AP in AP6010DN is the specific prefix of the AP of the enterprise network.

B. AP6010DN "601" represents the standard indoor placement type 1st generation

C. The "D" in the AP6010DN represents that the AP is a dual-band AP and supports the 2.4GHz and 5GHz bands.
D. "N"in AP6010DN means AP is an 802.11n AP.

Correct Answer: D

QUESTION 2

What are the main contents of the CAPWAP protocol (Select 3 Answers)?

A. AP automatic discovery of AC and state machine operation and maintenance of APandAC
B. The AC manages the AP and delivers the service configuration.

C. STA data encapsulates CAPWAP tunnel for forwarding

D. Define the transfer rate of the Mac layer and the physical layer

Correct Answer. ABC

QUESTION 3

TKIP encryption is more secure than WEP encryption because (Select 3 Answers).
A. Adopt a longer IV

B. Added a key distribution mechanism, no longer using a single key

C. Adopting a more complex encryption algorithm

D. Using a stronger data verification algorithm

Correct Answer: ABD

QUESTION 4
How many channels does China support in the 2.4 GHz band?
A .11

B. 13
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Correct Answer: B

QUESTION 5

The following description of the splitter and coupler is correct .

A. Power splitter and coupler are equal power allocation

B. Power splitter is equal power distribution, coupler is unequal power distribution
C. Power splitter is unequal power distribution, coupler is equal power distribution
D. Power splitter and coupler are unequal power distribution

Correct Answer: B
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